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C,=10.740.2(qe —5X107°)/(5 X107°) 5X107° < q. < 10*kg » kg™!
0.940.1(ge —107*) /(5 X 107°) 107" < oo << 1.5 X 10 'kg » kg™
o = 1.5X10"kg « kg !
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4.10)
AR EIF AR B s E C.
C, =1—[1—C000)][1—C,(850)] (4.1
WOH =
FIA 700 hPa F1 500 hPa Y q.. » 73 SITFE X WA K1 i o C.
TEE B4R
0.0 Qoo << 107°kg « kg™’
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C,=10.740.2(g —5X10°)/(5X107°) 5X10° < qu < 10 'kg » kg!
0.940.1(ge —107") /(5 X 107%) 107" < qu. <<2X10 'kg « kg™!
1.0 Qoo =2 X 10"kg « kg
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0.0 Goo << 10 kg « kg™
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B2 :550~100 hPa, N, =—0.43+1.73 RH, (RH<83%)
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S= Ty —T (4.19)

MU G HOR BT, KA AR TR AN B B R s VD IRHE Bk IE
B RAREFREW .

() R4 HI Wy

XA B — A8 S AT R, U K55 S<<—3 C.H RH=0.85 B, AW &
HH B 5 A5 U R B A B

(OB =
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WIERZIR = (LYR) o K2R B0 B AR O B2 8 2 N 3% 4. 3 T .
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(850 hPa)

Rz RO RHj
0.0~0.7 0.7~0.8 0.8~0.92 0.92~1.0

(500 hPa) RH;

i K 0.0~0.55 = /b~ CUCS %~ CUCS B K CUCS
L 0.55~0.7 b7 ACAS b ACAS %2~ LYR BAR LYR
EAS 0.7~0.85 %7 ACAS £7 LYR %7 LYR % LYR
PN 0.85~1.0 BHKR ACAS BHK LYR BHK LYR BHK LYR

DA ) PRS0 30 i A = i T R — i o I AR 5 3 o S o L I e
T B SRRV TR i 2 T A B LA A KR R T 59 A — R
B TR A 2K B 3R W R i, FL TR R

T AR G 2 A R 3 1 RV S e R B S AR T = X A
600 hPa U?,%>O,w<o(ﬁﬂﬂﬁﬁ$ﬁ‘é’uﬁiﬁ 0. —0.,=1.0 C .0, K FHIED -
IER= = LR =R < PN B DS 1 i ey L S | D 1K d g

FOWR e BE 2 1 PR HE 0 2 T00 sy i i — 2B K 43 Cb = Fl Cu = B8 A X 8 RH >
96 %, = J& AP>>250 hPa (X it = A Cb = s MAXHEE RH<<96 %, = JiK /& & PB=910
hPa, =T & B PT=660 hPa X% =K Cu =,
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RH>96%, = Ji8 PB<<980 hPa, =Tl PT==820 hPa.}y St = ;
RH>96%, 7 Jii PB<820 hPa,Zz Ifi PT==600 hPa.}y Ns Z ;
RH=96%, 2 i PB<<600 hPa, =i PT==450 hPa,}j As =
RH>96% , =ik PB<<450 hPa,}y Cs = ;

RH<96%, it PB=900 hPa, = T PT==800 hPa,}y Sc = ;
RH<C96% , =i PB<<800 hPa, = Ifi PT==450 hPa,}y Ac = ;
RH<C96% , = Jit PB<<450 hPa, = i PT==350 hPa,} Cc = ;
RH<96% , zJi¢ PB<(350 hPa,}y Cc =,
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2 I 1R BE T 2 JRE 32 20 ARl TR 2R S 00 5 A [v) 25715 AR AS [ i X 2 e AR DR, RISl 7 ] — 3 X
AR]— 25 A AR R 22 5] Rt R T DA e — 1 X9 2 8 A8 8 1 S4B o o AN )
X I8 2 TR B 7 ¥ LA » 2= 81 B2 I8 20 A ATt AT A0 DA 00 3 2 AR R O 2 T 2Rk
HATLWOR .

(DW=

B A 1R 2 B A 2% L BE AR VKRG It . DU = TN 2 JiG 0 s BE R R A
Ao

Heyrg = 23 X 0.5

T —T,
> °x 1 Y LT
4+Q87yX(m Hy<<0.7Hf

Hey = (4.20)
|t

T +56.5
. N2z > N
0.008 Hy=0.7TH

A= FORBEA TR 0 L BE L T AR 87 3R 3 B 5 0] 1Y 2 U 850 hPa, HoAth
R s y=—[ (T, —T:)/ (2, —2) 1X 1005 T 7% 850 hPa B/ HUTE T 4 $ith &
TR RS S L PR A Bt £k B T F) 500 hPa g BRI E . Y y<<0. 7 LR
JHTRT B A B 5 1025 =0, 7 i WIMEGE Cb g B BT 2038 2 0 — 56,5 C A9 XTI
J2 60, L A Ch Ti

) AR X UL 2 I 2 T e

JEXH i 2 B 2 TR 25 5 e R R g A K5

HACASM — Z5 + (ZZ - Zs) >< RHr, >< O. 5
ACAS:{
HA(‘ASF& — Zg —+ (25 _Zg> X 0.5
H, . 5= H AST
LYR;{ LYRT ACAST 1.21)
LYRE — HCU(‘S}E‘E
Heuesy = =25 + (25 —25) X RHg X 0.5
CUCS;{ CUCSTH 8 8 8
cucsig = Zg X 0.5
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= FOR AR AL 3 R BE N bR 3R 1 AR E S5 IR I W57 3R 192 500 hPa,
“8”FKI/NH 850 hPa,“2” K /R A& 200 hPa 4555,

4.2.4 BEMER)IZHR

G R ATRE UL JEE AE A AR AR TR e R o W E T AE RS 55 M e R 42 25 K
IIRET L RE WL BE I A4 2 R I KR BESE (5 255 TR =) T I Tl 1 OO JK
Ar ERRL O BEAEIN L BEULJE 225 O L RE DL Ay . DA R BB A T 9 E M R W
2 1 .

(D A A S K & 2

— ey A — 15 C~0 CY AR K & B (LWO Y g 0. 05~0. 5 g/kg. fir LA
R S 7K 5 B oR R BB WU S5 R 55 9 AR D R . 755 O R 2 I IR) . B DL 2 2 Bl
& F WA K BT E . R 5 Kunkei (198O BF 5T, 56 T A K & & (g) Ml
REWLEE (VO Z B S FR A -

3.9

Vi =S58 = 144 TG X )" (4.22)

o0 HKIERE (BRI g« em P, g MK E B (RN g/kg) . B2 K
IR 4 SR

R BB RS TR P i 42 L 0 T b 1 )2 2 /K B B R A (4. 22) R BP nT 3 s A —
A A% a5 FE AT — A B B 20 A RE L Vs

(2) fi I BE 2 90 )ik

R R 5 T4 7 4 % 8 DL B 2R 4732 DB T4 » LA e T A X 38 b i IR B K =
I TR AR AR S A J T R 7, R P 3% A0 DB 1) 2 2 i — I 220 B DL S v
X AN T R G 5 TS DA T 55 AF R AR TR I RE DL B T ELAT B A
B RE S XKW A ER LRI <<1.1~2.2~4.,4~6.6~10 f1=10
ke, St TR G Y R R TR XU X 43 1 R () - pl 4R A 1 R a4 R 4 T 45 g
UL J3E %ot I 14y e T A o 36 8 I A (T R AL 3 56 0 5ot 194 v b T DR 412 48 5 5 b, AR 9 0141
B ZIFT IS 3 h Y [ K T4 s B LA A 50 i S R R A B DL R S et DR B ) AR K T
HfH .

Ca) AN [A) fi6 D0 8 45 0 st f1 i T KD XoF 368 88 90 91 1 AL L 36 4. 4

F 4.4 AL E S X IR E BURIG R E I R X R

i 18 g DL BE (km) <1 1~2 2~14 4~6 6~10 =10
R AH B BE (%) 80. 0 75.0 60. 0 40.0 20.0 0.0
1 1¥1) F X 32 8 (06 85.0 80.0 65.0 45.0 25.0 0.0
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(b i Th7 XT3 4% FL 5 il DL 32 26 ot {6 4. 5.
F4.5 MERBRE (m/s) 5 6E 0 B % i M A X 7 3% 3

fie UL B 55 s 1 (H (0 1 2 3 4 5
P R b, T8 XU 4 AE (m /) 2.5 3.6 4.9 7.2 11.5
P (8] 3 o XU F AR (B (m/s) 2.2 3.0 4.0 6.0 10. 0

(o) P 7K T 41 268 i 1T 8 DL B2 A9 4 ) AT < Y BRI 20 TS 3 b A R /K 4R 4 2 R
T3 mm I R O S AR 5 BB L BE LR T 398 DR — > A s AR I S 3
h Bk A i LU AT 3 h AR 3 mm LB 3 B 6 7 5 2R 8 L 38 T 41 P28 Dok — 1> 25
SOk o R W N ] o S SR N E N Y
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